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No. . Time Source Destination Protocol | Inf =4
2129 7.995631 10.97.77.3 10.97.77.107 TCP [TCP segment of a reassembled PDU]
2130 7.995636 10.97.77.3 10.97.77.107 TCP [TCP segment of a reassembled PDU]
2131 7.995643 10.97.77.107 10.97.77.3 TCP 2643 > netbios-ssn [ACK] 5eq=202753 Ack=1586983 Win=65535 [TCP CHECKSUM INCORRECT] Len=0 P
2132 7.995874 10.97.77.3 10.97.77.107 TCP [TCP segment of a reassembled PDU]
2133 7.995880 10.97.77.3 10.97.77.107 TCP [TCP segment of a reassembled PDU]
2134 7.995889 10.97.77.107 10.97.77.3 TCP 2643 > netbios-ssn [ACK] 5eq=202753 Ack=1589903 Win=65535 [TCP CHECKSUM INCORRECT] Len=0
2135 7.996117 10.97.77.3 10.97.77.107 TCP [TCP segment of a reassembled PDU]
2136 7.996122 10.97.77.3 10.97.77.107 TCP [TCP segment of a reassembled PDU]
2137 7.996129 10.97.77.107 10.97.77.3 TCP 2643 > netbios-ssn [ACK] 5eq=202753 Ack=1592823 win=65535 [TCP CHECKSUM INCORRECT] Len=0
2138 7.996360 10.97.77.3 10.97.77.107 TCP [TCP segment of a reassembled PDU]
2139 7.996367 10.97.77.3 10.97.77.107 TCP [TCP segment of a reassembled PDU]
2140 7.996375 10.97.77.107 10.97.77.3 TCP 2643 > netbios-ssn [ACK] 5eq=202753 Ack=1595743 win=65535 [TCP CHECKSUM INCORRECT] Len=0
2141 7.996604 10.97.77.3 10.97.77.107 TCP [TCP segment of a reassembled PDU]
2142 7.996609 10.97.77.3 10.97.77.107 TCP [TCP segment of a reassembled PDU]
2143 7.996617 10.97.77.107 10.97.77.3 TCP 2643 > netbios-ssn [ACK] 5eq=202753 Ack=1598663 Win=65535 [TCP CHECKSUM INCORRECT] Len=0
2144 7.996846 10.97.77.3 10.97.77.107 TCP [TCP segment of a reassembled PDU]
2145 7.996852 10.97.77.3 10.97.77.107 TCP [TCP seament of a reassembled PDU1 :J

[ Frame 2128 (54 bytes on wire, 54 bytes captured)

= Ethernet II, Src: 10.97.77.107 (00:0b:db:59:97:3c), Dst: 10.97.77.3 (00:06:5b:f4:f2:11)
@ Internet Protocol, Src: 10.97.77.107 (10.97.77.107), Dst: 10.97.77.3 (10.97.77.3)

=
Source port: 2643 (2643)
Destination port: netbios-ssn (139)
Sequence number: 202753
Acknowledgement number: 1584063
Header length: 20 bytes

@ Flags: 0x0010 (ACK)

window size: 65535

(relative sequence number)
(relative ack number)

= [SEQ/ACK analysis]
[This is an ACK to the segment in frame: 2127]

[The RTT to ACK the segment was: 0.000011000 seconds]

0000
0010

00 06 5b T4 2 11 00 Ob
00 28 e2 59 40 00 BO 06
0020 4d 03 0a 53 00 8b 42 43
0030 ff ff af 4a 00 00

db 59 97 3c 08 00 45 00
00 00 Oa 61 4d 6b 0a 61
87 d5 75 51 78 9c 50 10
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